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Status of SDT simulation
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shift SIT3/4 to 1000 mm

prepare (split) two MDCs
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Hit map @ z=0 plane

SIT hits

Condition
・ VXD – SIT1/2 – MDC1 –
SIT3/4 – MDC2 - SET

・ Rmax = 1.8 m ( kept the same )

・ Particle injection :  q=0°, p/K, 
particle gun

・ data analysis (kept the same)

・ detector “hole” is fixed (as 
introduced last time)

-- only touching MDC hits

・ from MDC point of view,  almost 
the same, number of layers, cell size. 
Just the position is updated.
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Red : Pion, Black : Kaon

Energy deposit

2*MDC config. (hist. in last meeting)

looks almost the same 
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dE/dx resolution

Red : Pion, Black : Kaon

2*MDC config. (hist. in last meeting)

resolution changes slightly ( by number of events or bug fix or ...?)
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S-value -- K/p separation --

2*MDC config. (hist. in last meeting)


